banco
() id_banco int(11)

nombre varchar(50)
direccion varchar(50)
[ |-, id_poblacion int(11) (FK)
., id_provincia int(11) (FK)
E “51 telefono varchar(50) ——
@*17 Hﬂ mail varchar(50) — - incidencia
LF.,'L‘ id_incidencia int(11)
_ poblacion L:'[J id_usuario int(11)
[, id_poblacion int(11) . Ref_09 L:'EJ id_usuario_demanda int(11)
Lﬂb id_provincia int(2) (FK) Hﬁ fecha date
% municipio  varchar(255) usuarios tipo set('no-responde’,'mal-servicio','mal-comportamiento’,'motiv o-baja', reactivacion
id Ref 1 =), id_usuario int(11) " descripcion text
Ref 15 o userd int(11) Ref 13 “ vatada set(0,1)
= numero_socio int(11) Ref_19
; fechadeincripcion datetime /
nombreusuario varchar(50) | preferencias
— apellidolusuario  varchar(50) %vl‘.z id_preferencia _inf(11)
provincia i apellido2usuario  varchar(50) Li‘vld id_usuario in(11) (FK)

I}, id_provincia int(11) Hﬁ ofertaodemanda set('oferta’,'demanda’)
: :L id_accion int(11) (FK)
Hﬁ descripcion text

# id_preferencia

dni varchar(10)
[51 sexo set("hombre','mujer’)

provincia varchar(255)

w d Ref 14

fechadenacimiento datetime

direccion varchar(50)

el ) ) % id_usuario
_ﬂl‘a id_poblacion int(11) (FK) l.? — Ref 11]
?»:: id_provincia int(11) (FK)
Egﬁi codigopostal varchar(50)
& telefonol varchar(50) accion
telefono2 varchar(50, id_accion int(11)
nivelformativo Eﬁi mail varcharzsoi transaccion Gl accion varchar(50)
") Ref 04 2 id i Vo i [z, 1d_actuacion int(11) id_categoria_accion int(11) (FK)
I}, id_nivelformativo int(11) ., id_nivelformativo int(11) (FK) L - - & 19 .
- - o ) . |+, id_usuario_pagador int(11) (FK) ¥4 accion
“ul nivelformativo varchar(50) ., id_profesion int(11) (FK) g p
¥ d_nivel & hobbi har(250) fecha date
& id_ni i =4 hobbies varchar
gl -_nlve orrT'natlvo ) Ref 07] ., id_usuario_receptor int(11) (FK)
nivelformativo observaciones varchar(250) 5 1 accion nt(11) ) .
activo tinyint(1) / Pl Ref_10
o . comentarios varchar(50)
Pl d_banco ey (F duracion float(9,3)
profesion Ref 03 & nacionalidad varchar(50) pr— d categoria_accion
I=), id_profesion int(11) E — [}, id_categoria_accion int(11)
/& profesion  varchar(50) l?numero_socio [#| nombre varchar(50)

id_profesion

i? profesion




